DATA —d;-1,0,~1,1; ,=1,0

DATA 1 ,O,l. i

$=CHR% REM ou FP3="D"

D‘M n(iﬁ),v‘du 401 ,C040,40) ,NVC40, 4

ROUTINE MUTATION=
e FER T 1 70 4
RNDC1I#100
i=1 THEN 110

R$CX3,1¥1 ACX)=1

1£0 FOR Q= 1 1@ 2

ERINTYMUTATION: ~z%. .

EOCATE Bolish PRINTS VT ae s s a s i

INTCRNDCL
UND 1,%D,1
NEXT W
NEXT I: CG=VAL(CGE)

FOR X= 1 TO 39: ACX)=0: NEXT X
RETURN

REM-
FOR

3 LOCATE X2,3: FRIN
T7-"; LOCATE X2, PRINT”-"

270 FOR Y2= 4 TO LOCATE 2, )
TV 1”: LOCATE 36,Y2: PRINT”!”:
220 LOCATE 3,3: FRINT"+": LOCATE

FRINT+
290 LOCATE 2,21: PRINT”+": LOCATE 36,2
1t PRINT”+”

e REM-—mise en placs cellules——-
GOEUE 90

FOR N =1 TD 40
LOCATE 3,24 FRINT”NB="N
X=INTCRND( 122

Y=INT CRNDS
IF VEX,Yo=1
VX, Yo=1:

FRIN

CCX, Yi=CG
NEXT N

REM=
Rizt== EFRDDUCTIDN—
LOCATE 2,1: FRIVT“REPRDOUCTIDN

4320 FOR I=4 TO 13: IF H(I)=1 THEN D=I-
GOTO 450

440 NEXT I

450 FOR Y= D TO 19: FOR X=4 TO 24

460 IF X,Y)=1 THEN 510
470 RESTORE: FOR W= 1 TO
420 IF VOX+A,Y+E>=1 THEN
430 NEXT W /

500 IF 2 THEN : LOCATE X,Y: PRINT C
C Z0UND 1,12,6,12,1,10 SOUND 1
DONVOX, Y=l CCX,Y)=CG

0 NEXT X,Y

EOCOmERG T ERINTMEMETRE S0 Lo,
ECO)

E: FOR W = 1 TO Z000: NEXT U

540 REM ——-CONFIRMATION-~~

S50 LOCATE 3518 PRINTHMOK. : & ccumon s «

READ A, B
SV+1

560 FOR Y=4 TO 13: FOR X=4 TO
570 IF NYCX,Yi=1 THEN NVC(X,Y HI S O ¢
)=11 HUY)>=1: C(X,Y>»=CG: LOCATE X,Y: PR
INT F$

S20 NEXT X,Y

SAONREN o =MORTAL BliE—cc=—r

£00 LOCATE 2,1: FRINT”MORTALITE.......

£10 FOR Y=4 TD 2Z0: FOR X= 4 TO 35
£20 IF VOX,Yi=0 THEN £70

£20 RESTORE: FOR W=
240 IF VOX+A, Y+E)
650 NEXT W

60 IF 5 OR 3V:E5 THEN MV(X,Y)=1: LO
CATE X,Y: FRINT CHR$(ZZ5)

670 V=0: NEXT X,Y

£20 REM——-CONFIRMAT ION~——

690 FOR Y=4 7O 13: FOR X= 4 70 34

700 IF MVOX,Y)=1 THEN MVCX,Y)=0: V(X,Y
I=01 CCX,Y)=01 SOUND 1,200,8,15,1,1: §
OUND 1,2500,2,15,1,1: LOCATE X,Y: FRIN
To o»

710 NEXT X.Y

REM-~-NOMERE DE CELLULEZ—-—

NT=C: FOR Y=4 TO 19: FOR X=4 TO &
IF VOX,Y>=1 THEN NT=NT+1

NEXT X,Y: LOCATE 2,24: FPRINT“NE="N

7 IF NT>200 THEN LOCATE =,1: PRINT"!
!'! DESOLE, LE VIRWS A GAGNE !!!”: END
TARS S Sl LAEDRATOIRE-—————— f

20 LOCATE 3,1: INFUT”CODE INJECTION:"

-5 LT

ERINREA= =S E b T s

: LOCATE FX,PY: FRINT”O”
s IF A$="" THEN =
: VCFX,FY)=0 THEN LOCATE :

RINT" &
830 IF VCPX,PY)=1 THEN LOCATE FX,PY: P
RINT CHR$(:
300 IF A$="A" THEN FY=PY-1: GOTO 980
10 IF A$="Z" THEN PY=PY+i: GOTO 960
320 IF A$="K" THEN PX=FX-1: GOTD 260

IF A$="L" THEN FX=FX+1: GOTO SEQ
IF A%="1" THEN 1050
GOTO =270

IF FX<4 THEN FPX= GOTO =270

THEN FX : GOTO 870
THEN FY= GOTO =270
) THEN FY i @ATO 270
O LOCATE FX,FY: PRINT CHR®(2320)
1010 LOCATE 2,2Z: PRINT”X="EX;"/"FY;"
CELLULE TYFE‘”INT(CIPX PY2 /D2

ROUTINE VIERATION-—~——
1040 FOR 2= 1 TO S0: NEXT Z: FOR I = 1
TO 50: LOCATE FX,PY: PRINT CHR$(2Z4):
LOCATE FX,FY: FRINT CHR$(ZZ3): NEXT I
: RETURN

REM——=INJECTION-~—

0 IF V(FX,FY>=0 THEN LOCATE 3,22: F
RINT”...RIEN EN "FX3”/"FY: GOTO £70

0 CH=C(PX,FY): CG$=STR$(CH)

FOR I = 1 TO 4: C$CI)=MID$(CG%, I+
102 NEXTN]

1090 GOSUE 1040

1100 REM ——~ANALYSE EFFET-——--—

1110 EX=0: EF=0

1120 REM- !
1130 IF CH=LJ THEN LOCATE 3,1: FRINT”#
#% CODE DECOUVERT ##%”: GOTO 1330

1140 REM===RECH. EIEN FLACI
1150 FOR I= 1 TO 4

1160 IF C$¢I)=E$(I1) THEN BF=BF+1

1170 LOCATE FRINT”EXISTE="EX3"” E
IEN FLACE="EF

1 TO 4% FOR J=1 TO 4

IF C#(I)=E%$(J> THEN EX=EX+1
LOCATE = FRINT”EXISTE="EX;" B
IEN FLACE="
1230 NEXT J,I

1240 REM===ROUTINES EFFETS===
1250 ON EX GOTO 400,400,400, 1220
1260 GOSUB 1040: GOTO 400
12ZONREN —=—GELIUIE e T RS
1220 VIFX,FY) COPX,PY>=0: LOCATE FX
,PY: PRINT”#": GOSUE 1040: GOTO 1290
1290 REM==EFFETS D% LES EBF:
1300 ON EP GOTO 1320,1320,1320

310 VCPX,PY)=01 LOCATE FX,FY: PRINT"&
"I1GOSUE 1040: LOCATE FX,PY: FRINT"” "2
GOTO 400

1320 V(PX,PY)=0: LOCATE FX,FY: PRINT"&
#: @GOSUE 1040: LOCATE FX,FY: PRINT".":

0 RESTORE

1350 GCPX,PY)=0: V(FX,FY)=0: LOCATE PX
JEY: PRINT® “: FOR G=1 TO 10: SOUND 1,
25,10,10,1,1: SOUND 1,20,10,1,1% NEXT

FOR N=1 TO 10

FOR W= 1 TO &: READ A,E
DX=PX+(N£A) 1 DY=FY+(N&ED
IF DX<5 THEN DX=
1400 IF DX»34 THEN DX
1410 IF DY<4 THEN DY=
1420 IF DY>12 THEN DY=19
1430 IF C(DX,DY)»=I.J THEN C(DX,DY2?=0: V
(DX,DY)=0: SOUND 1,2000,3,12,1,1: LOCA
TE D¥X,DY: FRINT CHR$(2Z5)

1440 NEXT W: RESTORE: NEXT M

1450 FOR Y=4 TO : FOR X=4 TO =

1460 IF CCX,Y)=0 THEN LOCATE X,Y: FRIN
T »

1470 NEXT X,Y

1420 IF =1 THEN 410

il GOSUE 100

1500 GOTO 410




